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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500 ! I | I I

| —¢  EcFzExp
| —¢—  ECdef

3000

—>— water_ec

2500

2000

1500

1000

Warning: col [ EcFgro’, 'EcPltng'] is missing

2 % 2 0 X 2 X X 2

500

0 25 50 75 100 125 150 175



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col

[’ FVOPH’ ]

is missing

—@&— PHO

35

40

45

50

95

60

65

70




Trend plot forP3-4 0
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P3-4

BriE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS EFE

07:15 263 150.0 2.583 E|  FaHR@07:15 KEFEF (KAL)
07:50 263 150.0 2.583 | FHEAe07:50 KEFEF (KRAEREEE)
08:30 263 150.0 2. 583 5| FEAC08:30 KENFEFE (RAMEEE)
09:20 263 150. 0 2.583 F|  FiHAe09:20 KREFEF (GRF{EREIEE
10:05 263 150.0 2.583 5| FHR@10:05 KENFEF (CRAEES)
10:45 263 150.0 2. 583 5| FEAe10:45 KEIEFE CGRAMHESE)
11:20 263 150.0 2.583 5| FHEAe11:20 REEF (RAMEESE)
11:55 263 150.0 2.583 5| FHAe11:55 KENFEF CGRAMEEEE)
12:30 263 150.0 2.583 5| FHA@12:30 KENFEF CGRA{ERNEE)
13:05 263 150.0 2.583 5| FEAe13:05 KEIEFE CGRAFESE)
13:40 263 150.0 2.583 5| FHA@13:40 KENFEF CGRAMEEEE)
14:15 263 150.0 2.583 5| FHA@14:15 KENFEF CGRAMEREE)
14:45 263 150.0 2.583 5| FHAe14:45 KEIEFE CGRAMFESE)
15:20 263 150.0 2.583 F(  FiHRe15:20 KREFEF CGRAERESE)
16:00 263 150.0 2.583 5| THA@16:00 KENFEF CGRAEESE)
16:45 263 150.0 2.583 5| FEAe16:45 KEIEFE CGRAMFESE)
Bit] 4208.0 (167%) 2400. 0 3203 %EC: 2080.0, PH: 6.0

#HEKRECE (1927.0 vs 5033.0) i d5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-4_0, Day=71 (2025-06-08)
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P3-4

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:00 273 150.0 2.583 F[  BRi%e07:00 Ba1 (RAERSE)
07:40 273 150.0 2.583 S| {Rig@07:40 B (RAERSE)
08:40 273 150. 0 2.583 E  BRi%e08:40 BE1 (RAERE)
09:25 273 150.0 2.583 5| 1RiR009:25 Bz (KREAEES)
10:10 273 150.0 2.583 =l {Ri%e10:10 B3 (GRAERSE)
10:50 273 150. 0 2.583 F BRi%e10:50 Bz (GRAERERE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:10 273 150.0 2.583 =l {Rige12:10 B3 (RAERSE)
12:55 273 150. 0 2.583 E BRige12:55 Bz (GRAERESE)
13:40 273 150.0 2.583 5| {Ri%e13:40 B3 (RAERSE)
14:15 273 150.0 2.583 = RRiBe14:15 Bz (REAEESE)
14:45 273 150. 0 2.583 E BRige14:45 Bz CGRAERESE)
15:20 273 150. 0 2.583 El BRi&e15:20 Bz GRAEREEE)
16:00 273 150.0 2.583 =l RRiB016:00 Bz (RFAEEE)
16:45 273 150. 0 2.583 = RRiB016:45 Bz (REAKEE)
21t] 4095.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0
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P3-4

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:50 273 150. 0 2.583 F|  {Ri1%006:50 Bzh (RF{ESE
07:25 273 150.0 2.583 F BRige07:25 Bz (GREERSE)
08:20 273 150.0 2.583 5| {Rig@08:20 Bz (KRFAMERSE)
09:05 273 150. 0 2.583 E BRi%@09:05 BE1 (RAERE)
09:45 273 150.0 2.583 F BRi%e09:45 BE1 (GREERE)
10:30 273 150.0 2.583 =l {Ri%@10:30 B3 (RAERSE)
11:05 273 150. 0 2.583 E BRige11:05 Bz (GRAERESE)
11:40 273 150.0 2.583 S {Ri%e11:40 Bz (GRAERSE)
12:20 273 150.0 2.583 =l {Rig012:20 B3 (RAERSE)
13:00 273 150. 0 2.583 E BRige13:00 Bz (GRAERESE)
13:40 273 150.0 2.583 5| {Ri%e13:40 B3 (RAERSE)
14:10 273 150.0 2.583 =l Rige14:10 B3 (GRAERSE)
14:40 273 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:10 273 150.0 2.583 =l RiB015:10 Bah (RAEESE)
15:45 273 150.0 2.583 = RRiB015:45 B (RFAEESE)
16:25 273 150. 0 2.583 = RRiB016:25 Bz (REAKEE)
17:15 273 150. 0 2.583 El BRi&e17:15 Bz GREAEREE)
Bt 4641.0 (17)%) 2550. 0 32 3HKEC: 2080.0, PH: 6.0

#HEKRECE (1820.0 vs 4787.0) d5
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P3-4

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

07:45 273 150. 0 2.583 E|  {Rige07:45 Bah (RE{ERSE)
08:35 273 150.0 2.583 |Z=| {Ri&e08:35 Bz (KEAEHSE)
09:25 273 150. 0 2.583 FA| 1B2i%@09:25 B3h (kAR
10:15 273 150.0 2.583 FA| 1B2i%@10:15 B3h (RAEREE)
11:05 273 150.0 2.583 FA| {Ri%e@11:05 Bzl (GRAEEE)
12:00 273 150.0 2.583 FA| {Ri%@12:00 Bz (GRAERE)
12:50 273 150.0 2.583 FA| 1BRi%@12:50 B3h (RAB{ERSE)
13:40 273 150.0 2.583 |Z=| {Ri&e13:40 Bz (REEZERSE)
14:25 273 150.0 2.583 |Z=| {Ri&e14:25 B3 (REEZBE)
15:40 273 150.0 2.583 |Z=| {Ri&e15:40 Bz GGREAZEBE)
16:50 273 150.0 2.583 |Z=| {Ri&e16:50 Bz (REEZEHE)
243t 3003.0 (11)%) 1650. 0 3EHKEC: 2080.0, PH: 6.0

#HEKRECE (1823.0 vs 4710.0) d5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

2

1

1

300 -

200 -

100 -

300

200 -

100 -

300

200 -

100 -

1.

0.8

0.6

0.4+

0.2~

P3-4_0, Day=68 (2025-06-05)

50 A

00 A

50

00 §

50 -

00 A

a1
o
!

480 304

80 60
Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-4

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

08:30 273 150. 0 2.583 E  1BRi%e08:30 Bzl (RAEREE)
09:10 273 150.0 2.583 5| {Ri%@09:10 Bz (FRAERSE)
09:50 273 150.0 2.583 = {RRiB009:50 B (RFAEEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:20 273 150.0 2.583 =l RiB011:20 B3 (REAEESE)
12:05 273 150.0 2.583 =l {Rige12:05 B3 (RAERSE)
12:55 273 150.0 2.583 S| {Rige12:55 B (REAERSE)
13:50 273 150. 0 2.583 E| {Rig@13:50 B3h (RE{ERSE)
14:25 273 150.0 2.583 E BRige14:25 Bz CGRAERESE)
15:05 273 150.0 2.583 S| {Rig@15:05 B3 (RAERSE)
15:45 273 150. 0 2.583 E BRige15:45 Bz (GRAERSE)
16:35 273 150.0 2.583 5| 1RiR@16:35 Bz (KREAEES)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1830.0 vs 4510.0) i d 5
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